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10.

11.

Instructions to Students
This Question Booklet contains 90 questions.

All questions are compulsory. Each question carries
one mark and there will be no negative marking.

Each correct answer will be awarded one mark.

Write your Eleven digit roll number as allotted to you
in the admission ticket clearly on the test booklet.

During the examination,
* Read the questions carefully.

e Completely darken/shade the relevant oval
against Question No. in the OMR answer sheet
using blue/black ball point pen. Do not try to
alter the entry and not to do any stray marks
on OMR Sheet.

¢ Example:InaquestionbookletifNo.3isthe correct
answer for Question No. 20, then in the OMR
answer sheet, shade circle 3 using blue / black
ball point pen as follows.

20) @ @ . @ (This is an example only)

If more than one oval is darkened for a given
question, such answer is treated as wrong and no
marks will be given.

The Student and Room Supervisor should sign
in the OMR sheet in the space provided.

Candidate should return the answered OMR sheet
only to the Room Supervisor before leaving the
examination hall.

The calculator, mobiles and any other electronic
equipments are not allowed inside the examination
hall.

English version of the question paper will be
considered as final, in case of any dispute arising
out of variation in translation version.

Rough work can be done in the place provided in
the Question Booklet.
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Directions : (Questions 1 - 5)

Complete the following number series by
choosing the correct number from the given
choices.

2, 4, 7, 12, 21, [ ] .
1) 38

2) 36

3) 35

4) 33

3,5 9, 13, 21, [ ] .
1) 32

2) 30

3) 29

4) 25

4, 11, 30, 67, 128, [ ] .
1) 192

2) 219

3) 256

4) 344

6, 5, 10, 6, 14, [ ], [].

1) 18,8

2) 7,18
3) 10, 14
4) 14,10

122, 236, 3412, [ ], 5630.

1) 4590
2) 3510
3) 3515
4) 4520

NMMS - GMAT (K-8) P-1
2ousne ¢ (Fw 1-5)

3RLTHT TSRFOHNYOT FOOIRE BOZ OB,
02 IYNT Moay, BeednYRy, TRLFRAPA.

1. 2, 4,7, 12, 21, [ ].
1) 38
2) 36
3) 35
4) 33

2. 3,5 9 13, 21, [ ].
1) 32
2) 30
3) 29
4) 25
3. 4, 11, 30, 67, 128, [ | .
1) 192
2) 219
3) 256
4) 344
4. 6, 5 10, 6, 14, [ ] [].
1) 18,8
2) 7,18
3) 10, 14
4) 14,10
5. 122, 236, 3412, [ | 5630.
1) 4590
2) 3510
3) 3515

4) 4520
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Directions : (Questions 6 - 8)

The order of the letters that need to come in
the boxes to complete a certain pattern is:

6. a|:|d b|:|cd|:|a|:|

BRWRNW: (JZnsd 6 - 8)

20T mrg amsssmel TROIFRRLITN asasne;g
WTBeTT @gpms FEHROTT:

6. a|:|d b|:|cd|:|a|:|

1) c,ab,d 1) cab,d
2) <c,a,b,c 2) c¢c,a,b,c
3) c,a,c,b 3) c¢a,cb
4) a,a,b,c 4) a,ab,c
7. 1 Jm[ Jmn[ ]n[] 7. 1 Jm[ Jmn[ ]n[]
1) Lm,nn 1) Lm,n,n
2) m,l,nn 2) m,l,nn
3) Ln,mn 3) Lnmn
4) m,n,l,1 4) m,n,l,1
8. palJrqrp[ ][ Jpa[] 8. palJrqrp[][]paq[]
D 1p.p.q ) rp.p.q
2) q, ., 2) q,rn1np
3) p,qrr 3) p,qrT
4 rprq 4 rprq

9. Inthegivenserieshowmanytimesprime 9. 3pyHE Bossederdod o 87 BoBne

number appears between two odd SR O, W, HoSNT Al?

numbers?

2375913748362539 2375913748362539

) 5 ) 5
2) 6 2) 6
3) 4 3) 4
4 3 4) 3



10. In the given series how many times ‘3’
appears behind an odd number?

3132333435363738393

)
2)
3)
4)

8
6
5
9

Directions : (Questions 11 - 15)

Identify the wrong number in the given

series.

11.

12.

13.

24, 39, 65, 91, 104.

)
2)
3)
4)

39
24
65
104

103, 104, 107, 109, 113.

D
2)
3)

4)

113

109

104

107

20, 30, 42, 54, 72.

)
2)
3)

4)

72

20

42

54
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10. %@&gpm zomgeﬁwg 33 :1033505: 20T
AT, 3’ nh woRsI?

3132333435363738393

1)
2)
3)
4)

8

o n N

TR¥IN : (J[3nes 11 - 15
=

4RYDT Berdod) STT Hosohy, I

11. 24,39, 65, 91, 104.

12.

13.

)
2)
3)
4)

39
24
65
104

103, 104, 107, 109, 113.

D
2)
3)

4)

113

109

104

107

20, 30, 42, 54, 72.

D
2)
3)

4)

72
20
42

54
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14. 4,5,12,33, 160.

1) 4
2) 5
3) 33
4) 160

15. 5,11, 19, 30, 41.
1) 30
2) 19
3) 41
4) 11
Directions : (Questions 16 - 20)

Four groups of numbers / pair of numbers /
group of letters are given for each question
of which three of them are alike and one is
different. Select the different one.

16. 1) 30
2) 130
3) 350
4) 738

17. 1) ZWR
2) TQL
3) NKG

4) SPK

14. 4,5,12,33, 160.
1) 4
2) 5
3) 33
4) 160

15. 5,11,19, 30, 41.

1) 30

2) 19

3) 41

4) 11
BeuNne ¢ (Jned 16 - 20)
33 3YNT g%mseg T23R0TTYCRR 5093571%
/ BReB 3093671% / ©3TNE noYne T,
roPYRERY, 3RLR. ARYNEY SReTH 2oz Dedck
muoz;wdaol RBROQLITH. WwoTH TN, aadmﬁd.
PIFRNTHHR T, HTLSR.
16. 1) 30

2) 130

3) 350

4y 738

17. 1) ZWR
2) TQL
3) NKG

4) SPK



18. 1) 8,15,19
2) 6,8,10
3 5,12,13

4) 3,4,5

19. 1) BOAT
2) BUS
3) CAR

4) VAN

20. 1) RWC

2) BGN
3) PUA
4) SXD

Directions : (Questions 21 - 24)

The following Venn diagrams show the
relationship among the three given objects.
Identify the appropriate diagram to show
the relationship.

O
8@

21. Wild animals, lions, tigers
1) a
2) e
3) ¢
4) d

NMMS - GMAT (K-8) P-1
18. 1) 8,15,19
2) 6,8,10
3) 5,12, 13

4) 3,4,5

19. 1) BOAT

2) BUS
3) CAR
4) VAN

20. 1) RWC

2) BGN
3) PUA
4) SXD

Rousne ¢ (Fe 21 - 24)

B FPNT II® WS a;)egweg BREITH
RT> TRNRVNTLE FOWOFRY, BRWMHSH. B3
BOWOFRITW, BAWHE BOCIRT WIEW, 3REIHH
@03%71@90:3 .

O

c) d) e)

21. @ AN, 20T, TOND
1) a
2) e
3) ¢
4) d
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22. Women, mothers, nurses
1) d
2) b
3) a
4) e
23. Husband, wife, child
1) b
2) a
3) d
4) e
24. Professors, doctors, engineers
1) b
2) ¢
3) e
4) d

Directions : (Questions 25 - 27)

Complete the given anology by selecting the
correct answer from the alternatives.

25. 583:293::488:[ |
1) 291
2) 378
3) 487
4) 581

22, SH%HBODHTHL, SVCPOATL, TRCRT
1) d
2) b
3) a
4) e
23. now, Bor, >
1) b
2) a
3) d
4) e
24. TRERTITE, F[HTo, AOLRRTND
1) b
2) ¢
3) e
4) d

RRURRS 1 (IIRB 25 -27)

BRYIT TCIRFOHNAYOT FOBRT LOITI,
202 BSNS ma‘nﬁ’oﬁaﬁo& TRETRADA.

25. 583:293::488:[ ]
1) 291
2) 378
3) 487
4) 581



26. 120:145::195:[ ]
1) 170
2) 168
3) 226
4) 224

27. 8:256::[ |:108
) 9
2) 7
3) 5
4) 6
Directions : (Questions 28 - 30)

Complete the given analogy by selecting the
correct answers from the alternatives.
28. CEH : EJY :: AGD : [ |

1) CKT

2) CLU

3) CLT

4) CLV

29 VKNT :[ ]:: TPDG : 71147
1) 5161420
2) 5161320
3) 2111420
4) 5111320

30. PQR : SMW :: EFG : [ |
1) HBK
2) HBM
3) HCL
4) HBL

26.

27.

NMMS - GMAT (K-8) P-1
120 :145::195: [ |
1) 170
2) 168
3) 226
4) 224

8:256::[ |:108
1 9
2) 7
3) 5
4) 6

BRWRNW : (JJn<d 28 - 30)

é.mgpow TOIREONNLOT TOOSTD emgdmo&
302 IPNT mdsﬁoﬁ:m& TROITARDA.

28.

29.

30.

CEH :EJY :: AGD : [ ]
1) CKT
2) CLU
3) CLT
4) CLV

VKNT:[ ]:: TPDG : 71147
1) 5161420
2) 5161320
3) 2111420
4) 5111320

PQR : SMW :: EFG : [ |
1) HBK
2) HBM
3) HCL
4) HBL
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Directions : (Questions 31 - 34)
In the questions given below the numbers

in the figures are related. Identify their
relationship and find the missing number.

BRWRNW : (JJned 31 - 34)

B3 SUR SRy g%ﬁeﬁg e:ese)éﬁe;egd:aﬁ 5093571%
50&0@57&& RO, 33 souozssm& moha
WSNYY W, BRENTHT 50936033534 FOTWILROWD.

31. 31.
16 12
13 |29 |15 9 |21|11
14 10
1) 12 1) 12
2) 13 2) 13
3) 17 3) 17
4) 26 4) 26
32. 32.
1 2
5 (343) 6 (512) 3
3 5
2) 125 2) 125
3) 216 3) 216
4) 729 4) 729

10




33.

an

1) 34

2) 36

3) 39

4) 42
34.

D
2)
3)
4)

[V, I S VS B )

Directions : (Questions 35 - 40)

y

10

33.

n\

7

Find the missing number/letter in the given

matrices .

12
3S. 9
41

) 12
2) 18
3) 20
4y 21

23
?

28

34|
27
15

y

1)

2)

3)

4)
34.

11

)
2)
3)
4)

BRWIN : (JJned 35 - 40)

34
36
39

42

[ B S VS N\

NMMS - GMAT (K-8) P-1

&h

\

10

y

13

$RYTHT TRIIAYY By BRND:T Toss,/
g S, BOTERROWO.

3S.

)
2)
3)

4)
1

12 23
9 2

41 28
12
18

20
21

34]
27
15
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23 45 43 23 45 43
36. [36 47 28 36. |36 47 28
42 46 2 42 46 ?
H 1 H 1
2) 19 2) 19
3) 23 3) 23
4) 27 4) 27
> 4 24] > 4 24
3. 3 5 =2 3. 3 5 =2
6 8 2 6 8 2
1) 9 1) 9
2) 100 2) 100
3) 224 3) 224
4) 280 4) 280
I R Y| I R Y
3. |c U W 3. |c U W
G W 2 G W ?
1) E 1) E
2) U 2) U
3) X 3) X
4 Vv 4 Vv
D J L| D J L|
39. M E H 39. M E H
P 2 C P ? C
) G ) G
2) H 2) H
3) D 3) D
4 N 4 N

12



8| A| F

40. |c|s|7

? I 2
) B
2) D
3) E
4 G

Directions : (Questions 41 - 43)

Choose and substitute the correct set of
signs in place of * sequentially selecting
from the given alternatives to make the
equations meaningful.

41. 24*9x2 %6

) =,+,x
2) x,=+
3) =x+
4) x,+,=
42. 6*%4*16*8
) x,+,=
2) = +,x
3) =+ x
4) x, =+
43. 62 * 58 * 48 * 12
I +,+,=
2) =+,+
3) =+ +
4) +, -, =

13

NMMS - GMAT (K-8) P-1

8| A| F

40. |c |57

? I 2
) B
2) D
3) E
4 G

BRWIN : (TJnwd 41 - 43)

3RYTHT TRCTTLOTRY, OFPETRDE TRT,
2RYTR BT BT R, ¥ RASY
BN STedTIH Q0T TSR CBNLOT

&02.

41. 24%x9x2 %6
1) =,+,x
2) x,=+
3)) =x+
4) x,+, =

42. 6+*4*16*8
1) x,+,=
2) =+, %
3) =+ X%
4) x,=+

43. 62 = 58 * 48 * 12
) +,+,=
2) =+,+
3) =+ +
4) +, - =
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Directions : (Questions 44 - 45)

Find out which numbers/signs should be
interchanged to get correct equation:

44, 8+4x2-5=2
1) 8and5
2) +and=
3) 8and4
4) xand -
45. 16 +-8+4x2=10
1) =+ and +
2) 8 and 4
3) + and x
4) 2 and 8
46. Sonuis son of Sarika. Reeta is daughter
of Sarika. If Sarika is sister of Raju,
how is Reeta related to Raju?
1) Niece
2) Sister
3) Daughter
4) Aunt
47. A girl introduced a boy as the son of

the daughter of the father of her uncle.
The boy is related to the girl as:

)
2)
3)
4)

Brother
Nephew
Uncle

Son

14

ReuRne: © (FFnes 44 - 45)

3.@&.53:5:5 BReITRTY 030 zs%ﬁlﬁeéa/xoaﬂﬁﬁe}m‘;l
BTN WTEO IPRTTN TeWCTTD zaomhdagd
aowwm‘i BOTDWROWD:

44, 8+4x2-5=2

1) 8 &= 5
2) + @3, =
3) 8 2= 4
4) x D -
45. 16 -8+4x2=10
1) + =08+
2) 8 == 4
3) + R x
4) 2 2 8

46. BRI TROTY FN. OCR TOTY INWD.
00T, TORINT BRCTOOINRNTT, dee

TOHNR IR BoWoR?

1) AReTT ARE
2) 3oh

3) NEd

4) 8T,

47. 2y BoTNOkD, BTN, AR I, WETT
JoBch Y B 208 JOBRHIVY.

TOMORT TOTNT, TITNR O30T TOWOR:

) BReeET
2) e

3 By

4 =0



Directions : (Questions 48 - 50)

The following questions are based on the
given intersecting figures. Each figure
represents a group:

/A

NMMS - GMAT (K-8) P-1

BeuNne ¢ (Jneh 48 - 50)

33

3ENS TJRed Etdthd (edT ©TINYR,

S0, T es%@éos:a WOTH rbowﬁacz TSARTTT:

AN

TR STWRTT Ned
Kabaddi players

3B SRTIT Ned
Cricket players

g\ 7
2

[\

48. Find the number of players who play
both cricket and kabaddi:

)
2)
3)
4)

10
19
17
21

49. Find the number of players who play
only volleyball :

D)
2)
3)
4)

7
5
22
8

50. Find the number of kabaddi players:

1))
2)
3)
4)

23
17
21
19

O

48.

15

49.

50.

TS STHTWET Ned
Volleyball players

3B DIy sw% NTTR esasﬁeéa‘oel 3T
¢383MoTT xog% aw%?

1) 10
2) 19
3) 17
4y 21

ROWISF TR, BRRWNT 50335 DT, ?

) 7
2) 5
3) 22
4) 8

BUQ G SRITT Boss, O ?
1) 23
2) 17
3) 21
4) 19
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Directions : (Questions 51 - 54) BeuNn ¢ (Jned S1 - 54)

Identify the number of specified geometric g7 8rEiOT WIRYY B RLICH BTN

shapes in the given diagram and mark the =523 03y 20080 CVZTZR. MTHS2.
correct answer. NN ) Q

51. Find the number of squares in the 51. 338 ey B 3CHOHT FINE Do,

given figure : B0TWROWO :
1) 22 1) 22
2) 26 2) 26
3) 29 3) 29
4) 30 4) 30

3SR s@%mw w%@oﬂ:gdm e:aq#r:bgmf
:10935 OB R0WO:

52. Find the number of semicircles in the 52.
given figure:

2) 24 2) 24
3 25 3) 25
4) 26

4) 26

16



53.

54.

5sS.

NMMS - GMAT (K-8) P-1
Find the number of triangles in the  53. 3R Zrycom ©TIOHYTT SRHownY B0,

given figure: FOR & ROND:
1) 10 1) 10
2) 12 2) 12
3) 13 3) 13
4) 14 4) 14
Find the number of parallelograms in ~ 54. #s¢R 3eyos 7 30NYTLT HFWR0ST
the given figure: BBRPFENT Boss; ForROWO:
1) 15 1) 15
2) 13 2) 13
3) 12 3) 12
4) 9
4) 9 )
Present age of Shashank and Prashanth 55 3z03 3 Zze03 axtns 8:ns SoHs
is in the ratio of 4:3. If Shashank will 4:3 3 97393898, 6 =Xene Soz8
be of 26 years old after 6 years, the IT0IR ROHE 26 IVERRES, [TOIY
present age of Prashanth is? BT SR IT?
1) 14 years ) 14 STERSD
2) 11 years 2) 1l IRERD
3) 21 years 3) 21 IREAD

4) 15 years 4) 15 IREFNAD
17
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56.

57.

58.

The sum of three different numbers is
equal to their product. Which is the
biggest number among them ?

) 2
2) 3
3) 6
4 1

A man started walking from his house
towards south, after walking 6 km he
turned to his left and walks 5 km, then
he walks further 3 km after turning
left. Again he turns left and continued
his walk to 9 km. Now how far is he
from his house?

1) Skm
2) 6km
3) 7km
4) 9 km

This year “TEACHERS DAY” is
celebrated on Thursday. On what day
will “TEACHERS DAY” be celebrated
in the next year?

1) Sunday
2) Friday

3) Thursday
4) Saturday

18

56.

57.

S8.

DR Q0T TosdNe DT w3y mrovw)
2,05 BNW. TMTT VPYNSY RO B3,
O35YTH?

) 2
2) 3
3) 6
4 1

2y HE BF, TIoWwon WP DBestd
6 3.00¢. FNMWITYY. ToT IFY, OWE, 3TN
5 d.5%e B[RS FWATE. DI @G 3TN
3 3.oe. VBTN, T QWE 3TN 9 ..
Bed BOMWT/Y. 3N WTB TF, HROWOT
DT, BRTTY VTN?

) 5 s.oe.
2) 6 $.50e.
3) 7 ..
4) 9 8.0

3B IR “égﬁd @mmd%”oﬁ:ﬁaol fqelovtvrle)
30T CRONT). WNOAT WIE “é%ﬂ%d
amwdgo&mj O30z AN esasaﬁmmgd?

1) o000
2)  DFWT
3) MTOTRT

4)  3J=00



59. This year the “Independence Day”
is celebrated on Thursday. On what
day will the “REPUBLIC DAY” be
celebrated in the next year?

1)
2)

Saturday
Sunday

3) Thursday

4) Tuesday

Directions : (Questions 60 - 64)

In the following questions, a word is written
according to some code. Identify the code
of the other word given below.

60. PALM is coded as UEOO in certain
language. Then YEAR can be coded
as:

D
2)
3)
4)

DHOS
DIST
DITS
DIDT

61. IfEARTH is coded as 41590 and PACE

is coded as 2134. Then PEACH can be
coded as:

1) 21430
2) 24103
3) 24130
4) 21403

19
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59. 33 Iqe “HBOP, DTULRTRODEY,” HTHTRT

0TS, THOORT TR “NeoTIAR TR Ty,
BT AR ERIOTSRNMIF)TH?

) 320

2)  OVWT
3)  MTmT
4)  VDONYIT

BRWIN : (IJned 60 - 64)

8 NS JJNYY woms ISRy, meodeds
PORONY WICHRNT. WTe TOFeST PoROHY
BRYTT JRRET TR IR/ Q0T
TOTR & BON0.

60. PALM WY, WOTH $eRo® UEOO Q0w
Toge2aws, Wit XodY YEAR O, &en
ToFeST[TOT:

1) DHOS
2) DIST
3) DITS
4) DIDT

61. EARTH o, 41590 oo, PACE o=,
2134 oom» Hode3ans, PEACH o), &erd

DOBCSTDOTR:

1) 21430
2) 24103
3) 24130

4) 21403
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62.

63.

64.

If in certain language FORGIVE is
coded as DPPHGWC. Then REQUEST
can be coded as:

1) PFOVCTR

2) TDSTGRV

3) PFOCVUR

4) TOFCVTR

If in certain language KODAGU is
coded as NRGDJX, then TIPTUR can

be coded as:

1) WLRWYU
2) WLSWXU
3) WLSVXU
4) WMSWXU

If TAG is coded as 112, then PEN can

be coded as:

1) 130
2) 132
3) 136

4) 140

20

62.

63.

64.

20w eRod Igd FORGIVE o=,
DPPHGWC @0z wdwd, REQUEST
O, Wen WBHTOTR:

1) PFOVCTR
2) TDSTGRV
3) PFOCVUR

4) TOFCVTR

20w oFod I KODAGU s,
NRGDJIX qomy mozeeawd, TIPTUR
@a%ocz e WBOH T

1) WLRWYU
2) WLSWXU
3) WLSVXU

4) WMSWXU

TAG o, wom Bode3n Iged 112 wowd
w333, PEN o, wde Zoée3n I53 &ent
2BOBHTTH:

1) 130
2) 132
3) 136
4) 140



Directions : (Questions 65 - 69)

The following questions are based on the
figures in series. Pick from the options what

will come next.

65. A

)

= A
>

O O

] O
<

A -
2)

dhb
N\

A\
e/
2)

21
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AeuR © (FBN 65 - 69)
3 S9N IIAe wIAY Jerdodhwd, GFORS.

BRLIHLT TCFCHNRYOT TR W WIRW,
SORTR JeedodRy, TVRLVFRRVA.

3) 4)

o
% ‘
N\ANNEL/
NN

3) 4)
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67.

68.

69.

v A

A O

d| O
D | A

)

)

L1 B
v

Y
]

a)
>

2)

22

d|m
D | >

3)

4)
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Directions : (Questions 70 - 72) BRWIN : (IFRw 70 - 72)

In the following questions, a sheet of paper 33 3¢NS JJ LY 2.0 PNATT ToLCHTY, TR
is folded, punched and part of it is cut dogaﬁn@do@d?&:d DI, IZOT mﬁsm‘i (20eg
(shaded region) and all these are shown  TUT M) WIRT PROT SRCOJT. TIFODTY,
by figures. If the paper is unfolded how 2R3N W TeR PLEWLIT FOLOWRY, BT
does it appear? Select the answer from the  Towy, TcsrodRYoR Bk, SRR
alternatives:

’ ‘
71.

o O

O O o o O

o o o O O o o O
o O

1)

2) 3) 4)
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72. < . ?
OQO o o D o oo O ° ° D g
1) 2) 3) 4)
Directions : (Questions 73 - 75) BRWIRD 1 (s 73 - 75)

In each of the given question thereis a figure =~ SRHTT F,30300m> IT,F 0309 TeLdodhd

to the left of mirror indicated by lines and its ~ STFPNTIIT UST TITH T INOWNRTEY,
possible images are given in the right side of ~ XOWRNTY IRTWONT. JTWERABIHE 8T
the lines. Choose the correct mirror image = 3003RT [T TIWOWTT, IRHT Ty,

of the figure given in the left side. ToIRFCHNLOT B0k, TR,

73. ol o |, \O O D/

O O O O O

) 2) 3) 4)

e q D q q

) 2) 3) 4)

24



75S.

)

Directions : (Questions 76 - 79)

In the following figures, a part of the figure
is missing. Identify the missing part among
the four alternatives given:

NMMS - GMAT (K-8) P-1

2) 3) 4)

ReuRe © (FZne 76 - 79)

#Jaégsdow ess@am#e; ess@aoSo WOy yon
WTRLTTNG. VTR, Jddeom IFod R
3RO Do), TeSEoPNRYOT RSO

76.

1) 2)

3) 4)

77.

1) 2)

3) 4)

25
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Directions : (Questions 80 - 82) BRWNW : (JZned 80 - 82)

A sheet of paper as shown in the figure is ©3TYTToZ BNTT LoDy, FoWLTN
folded to form a cube. Answer the following ez 3 wwotemgd. Fon deovxm IFnen

questions: BOIRT LOITH, TOW WROWL:
80. The face opposite to ‘O’ is: 80. ‘O’R NTZTRT oo D:
A A
11O (11O
+1O +1O
D © D) ©)
)+ )+
3) 3) X
4) [] 4) ]
81. The opposite faces are: 81. =TT QTOTRT o dniEh:
1 2 1 2
3 4 3 4
5 6 5 6
1) 1,6 1) 1,6
2) 1,4 2) 1,4
3) 3,5 3) 3,5

4) 4,2 4) 4,2

27
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82. The face opposite to ‘B’ is: 82. ‘B’RA NTTTRE To8d:
A A
B C B
E E
F F
D) F 1) F
2) D 2) D
3) A 3) A
4) E 4) E

83. When the below mentioned unfolded 83. #rycs T, zagwaaq 2OTH a,s’m%aomﬁ

cube is completed, which of the option SRR 5 PR LOOERTLIT DO,
displays correct number on the faces ? BRI TOSRECHNVOT MHIF !
1
5 2
3 6
4
4 6 1 4

1) 2) 3) 4)

28



84. A dice is thrown four times and its
four positions are given below. What
number will come on the face that is
opposite to the face having 2’ on it?

6 3

5 6
4 5
13 2) 4

Directions : (Questions 85 - 88)

In the each of the given figures, there is
a relationship between first two figures.
The same relation is between the next two
figures, but one is missing. Find the missing
figure from the given alternatives.

8S.

NMMS - GMAT (K-8) P-1

84. o memm& SESERIRATIS NF0RINT
2y wms S m@ﬁﬁeéaaol SRCOTSINT.
wwoow 2° éﬁ P WN DT mammq
TO3RTOPNRPOT BOTROWD:

3)5 46

ReuRne: © (FBnes 85 - 88)

33 3R IpEidm I3odeomd SEERS) SRTO
NTT es@ém‘ﬁﬁ TOWOPNTI. AT TBOWOG NOSTT
TR STIRIITH 2OTY, BRYDR DY, 3RYTHH
TOIVETORNLOT @dﬁael FOTR &L ROWD.

D -

3) 4)

o]

3) 4)
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1) 2) 3)

w o S o
’]"[‘ @ oo 4

A 1 @ M <o m

™M 0 T ] T O

1) 2) 3)
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Directions : (Questions 89 - 90) BeuNne ¢ (Ined 89 - 90)

In the given questio.ns, there are.ﬁgures or 2. 20n3 FBoHY Sesbowd asaecr% ROYSS wew
numbers above the line. Its water images are P D030 TOSRE JOT B[ILOWTT
3 o) 2

given below it. Find the correct water image ;..o = = 3ocobnood ok =oa.
of the figures from the given alternatives. “ ¢

8. Y 9 F 4 6 N
S S
b A6 3 + 9 N
> Y 38 E F 3 N
» A3 E e U
Y A e F rF 9 U
90.

g 4 R 1 2
S

D@2 N B Jd1 3
20 NN B 14 5
Y3Q N\ Ar 2
Y N R J1 ¢

31



NMMS - GMAT (K-8) P-1
Rough Work /3259 5o0de

32



TOXR, @ 3¢ o3

NMMS 2019
®&% — 1/Paper -1
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S / Revised Key Answer

g@d 50935 / 3T / g@d 50935 / 3T / > g@d _,0:’0935 / 3T /
Ques. No. | Key Option Ques. No. | Key Option Ques. No. | Key Option
1 1 21 3 41 3
2 4 22 1 42 4
3 2 23 2 43 2
4 2 24 1 44 4
5 4 25 2 45 3
6 2 26 3 46 1
7 1 27 4 47 2
8 4 28 2 48 3
9 3 29 1 49 2
10 2 30 4 50 1
11 2 31 2 51 4
12 3or4d 32 3 52 2
13 4 33 1 53 3
14 3 34 3 54 1
15 1 35 2 55 4
16 4 36 3 56 2
17 3 37 4 57 1
18 1 38 4 58 4
19 1 39 1 59 2
20 2 40 2 60 4
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61 3 81 2
62 1 82 4
63 2 83 1
64 4 84 3
65 2 85 3
66 3 86 4
67 1 87 3
68 2 88 3
69 4 89 3
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71 2
72 3
73 2
74 3
75 2
76 4
77 1
78 3
79 1
80 3
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10.

11.

Instructions to Students
This Question Booklet contains 90 questions.

All questions are compulsory. Each question carries
one mark and there will be no negative marking.

Each correct answer will be awarded one mark.

Write your Eleven digit roll number as allotted to you
in the admission ticket clearly on the test booklet.

During the examination,
* Read the questions carefully.

e Completely darken/shade the relevant oval
against Question No. in the OMR answer sheet
using blue/black ball point pen. Do not try to
alter the entry and not to do any stray marks
on OMR Sheet.

¢ Example:InaquestionbookletifNo.3isthe correct
answer for Question No. 20, then in the OMR
answer sheet, shade circle 3 using blue / black
ball point pen as follows.

20) @ @ . @ (This is an example only)

If more than one oval is darkened for a given
question, such answer is treated as wrong and no
marks will be given.

The Student and Room Supervisor should sign
in the OMR sheet in the space provided.

Candidate should return the answered OMR sheet
only to the Room Supervisor before leaving the
examination hall.

The calculator, mobiles and any other electronic
equipments are not allowed inside the examination
hall.

English version of the question paper will be
considered as final, in case of any dispute arising
out of variation in translation version.

Rough work can be done in the place provided in
the Question Booklet.

10.

11.

DRRENRVR BRWIND
83 TJPATOD 90 TINET, BROLTIII.
PP TFAWD TEROD. T TJJ7 20T BOTNT DB
R Thlaly :)S:msés WOE YRR,
TS BOXIT YVZTF, 2O WOFII), AEBLRNIFYT.

IR AEBRNHT BFeT TTEYI BIRED ©OINY
Spe0ned oo, TFWAFOD e BTN BCWO.
waeag OVHONY,

° @5471%3534 ONTRTIIONOT 0.

*  Lomr.sT. (OMR) Rusd m@ IF, "oLn =O
RO YOITHR), MWVEFLY LFEONTOT  ToLY
RENS B FO0WT GVITA 2O BIIF, eD/FH)
ZOOWOD LV TCROLF B Wi LvTedeeN Jew®
TRR. udse NITHR), B¢ TPRT FeS WTTVORTLY
VRTINY T o3R)Te @57135 mdaammd 8. N
=T, (OMR) @083 B&goD hed =PEITI.

* WIS 203 IJR A0 WWITT @) Fo, 3
SNBY &.087.8T°. (OMR) L3P [ 33y, e/
3P WO TOOWOW Fy wvTodeendy B IYR
30e0RTOZ B BT, ROTPEF N 3ew BIOTLICR.

200 Q@@ (o3 wemzcs w03)

2,00 TR .0BIOT T, BINYW, DOVFY ©oTH
YBTNGR, SFHOW TOMEI2 VORI, DB OY.

%.935°.60°. (OMR) QBT dnKE :’éeéz:sg DR Sone
3080 HedindEth ST T SRR

aj@ezsg BRIH JIONT T0BT WIVAT &[T BT,
(OMR) )&, FRTE doecﬁ%mdﬁaﬁ gz Ie
LT3R

WOeTy BPBROIRYR FEYSWT, BT TRTHS
D) BT B¢ @@f@)@ﬁe YOTFTEONTT), ST,
QREHBSONT.
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TI, TEFOP BONT ©FEoNT e ©0IWOTOWd
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PHYSICS

The velocity of a car is 18ms™. Its
velocity in kmh' is:

1) 5 kmh’

2) 50 kmh'!
3) 64.8 kmh'
4) 70 kmh'

The amplitude of sound wave
determines its:

1) Period
2) Wavelength
3) Frequency

4)  Volume

The natural tendency of objects to
resist a change in their state is:

1) Force
2) Inertia
3) Mass

4) Steady state

The potential energy of an object with
mass 2kg at a height 15m is:

1) 2947
2) 2707
3) 2257

4) 1477

2.

3.

4.

NMMS-SAT-P2 (K-8)
nEctoRk]

2.0 %08 @ent 18ms™ 3, kmh' 89
FON wen:

1) 5 kmh!
2) 50 kmh'
3) 64.8 kmh'!

4) 70 kmh"!

2O 52% ITONT TPTNOW AFFOBOTT
903:

1) 3comzo
2) 3Jonmes
3) ©x8

4) mg

IZoneh 35:@_ %3033 WRRRTBR 3RO
DR BRCE:

1) 2o
2) =BT
3) oo
4) dgo o

15m £33 =3 2kg TZToocH, RO
TEAN T, 3G

1) 294)

2) 2701]

3) 2251

4y 1477
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S.

A particle moves 3m north then 4m east
and finally 6m south from its initial
point. Then its total displacement is:

1) Sm
2) 10m
3) 13m
4) 18m

One Hertz is equal to:

1) 30 vibrations per second
2) 60 vibrations per second
3) 60 vibrations per minute

4) 30 vibrations per minute

Two persons pull a box in the same
direction with 15N and 25N. If the net
displacement of the box is 20m, then
the work done is:

1) 3007
2) 4007
3) 5007
4) 8007

According to Newton’s third law of
motion action and reaction acts on:

1) Different objects in opposite
direction

2) Same object in same direction
3) Same object in opposite direction

4) Different objects in same direction

2WOTH FEOR) 354 STORT VOWINOT YT aééﬁ
3m 302 Fo3T TRy 4m @8O WoITN
2] sa%& 6m O[S WTT el m@ﬁwgu:

1) 5m

2) 10m
3) 13m
4) 18m

2,000 TEF Q0TT:

1) o Fdo&R 30 30ITIND
2) o FFoRR 60 FOTIND
3) 200 dwRE, 60 FoTIND

4) 2.0 T, 30 FoTINW

faa%d: %gﬁeéo LOTH ﬁééﬁo&:ﬁoel 2,003 a@g
15N &35 25N wo Iodeen a@o&wgmg)&
a%é,gzﬁoﬁo 20m z’c;p%oscsr{raozszﬂ LVOERT FOX:

1) 3007J
2) 4007
3) 5007
4y 8007

RRKTS wWosed 38t AohIHT TwS Job
oy TSOHAD LR
1) ops, SRy s 205 B33

o™

2) eo0Te BT e .0t DITY

o

3) e0ode IROT FedS TG, DEIY

4) QN3 BN Hed wode DY
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The average velocity of a particle 9. «ToRs Jen ‘W’ DIy A0 JeneeI e
moving in a straight line with initial ‘a’ 3podR womd e ITY TelohQ ‘t
velocity ‘u’ and constant acceleration Béomne o BOIWS WWT ToeRO Jen:

10.

11.

12.

‘a’in ‘t’ seconds is:

at

1 u+ —

) 2
+

2) u +at
2

3) u + at

4 ut+ Loa?
2

The Velocity of sound in vacuum is:

1) 330ms
2) 343 ms!
3) Oms’!
4) 10ms’!

The temperature range of clinical
thermometer is:

1) 0°Cto 100°C

2) -10°Cto 110°C

3) 0°Cto37°C

4) 35°Cto42°C

The number of images formed when

the angle between two plane mirrors
is 72°:

1) Three
2) Four
3) Five

4) Six

10.

11.

12.

1) u-i-a—t
2
+
2) u + at
2
3) u + at

4) ut + 1 at
2

DRFBTY 3T Hen:

1) 330ms?!
2) 343 ms’
3) Oms!
4) 10ms’

décséécoﬁ NTTNITTT 03 !
1) 0°C ooz 100°C

2) -10°C oow 110°C

3) 0°C ooz 37°C

4)  35°C oo 42°C

QNTE TTHIO TIEINE SRS deex 720

YR LVOLRMLE J3Wowns Bos3:

1) SR
2) ey
3) 2T
4) &
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CHEMISTRY TTROHTTVY

13. The model that explains “the energy of  13. “Sg, s3oQ I ITHIIIR ad%&‘@
an electron remains constant so long as 33w P&dmﬁdagzﬁ” QOTH LTORT TITO:

it revolves in its own shell” is:

1) Rutherford model 1) DTTZReTE TRTO
2) Bohr model 2) BReT® =PTO

3) Goldstein model 3) RReFRET BR[O
4) J.J. Thomson model 4) &8 PRI IPTO

14. If the mass of a gas in discharge tube  14. JTRETe TEIOPYR WIVT W& TN

is heavier, then the deflection of anode Toon, $0LONY NIONOID:
rays is:

1) Least 1) =FHNTTS

2) Highest 2) NoFONITI

3) Moderate 3) =OGOTRTONITI
4)  Constant 4) R SN

15. The percentage mass of Nitrogen in  15. HNO, 398 moxs3s 3esme IR000:

HNO, is:

1) 11.78 1) 11.78
2) 25 2) 25

3) 2222 3) 22.22

4) 12.64 4)  12.64



16. In any given sample of chlorine, the 16.

17.

18.

19.

ratio of atomic masses of two isotopes

is:

)
2)
3)
4)

The instrument used to find atomic 17.

mass accurately is:

)
2)
3)
4)

The process of Decomposition of 18.

Mass spectroscope
Optical spectroscope
Microscope

Mass Microscope

limestone into quick lime is:

)
2)
3)
4)

A balanced chemical equation among 19,

Exothermic
Endothermic
Isothermic

Neutralization

the following is:

D
2)
3)

4)

HgO, — Hg+ O, 1
2HgO — 2Hg + 0, 1
2HgO, — Hg, + O, 1

2HgO — 2Hg + O 1

NMMS-SAT-P2 (K-8)

BRLIHT 3RO BRRTe TRIODY
AT DBRCBRCIHNY TTZ0N TEOD
LODTOI:

)
2)
3)
4)

1:3
2:3
3:1
3:2

wdmmméoﬁ% QDTN FOTHLROBDEN
WS LVTTOL:

D)
2)
3)

4)

00d BReHITIEF
WPIT TRCeWITIFT
TRT TIE3

wE

Tod INT TIET
we

BT 3 NTRIDRLOT w&oﬁ:o esgézs@
ST 03

)]
2)
3)
4)

&)%od)%ﬁ
O3B

2]
FIASICRESON)

23R CFTED
@

QRNTY TOTHANAT WOW> TITVONAF
[IWETTED:

)
2)
3)

4)

HgO, — Hg + 0, 1
2HgO — 2Hg + O, 1
2HgO, — Hg, + O, 1

2HgO — 2Hg + O 1
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20.

21.

22.

23.

The chemical name of epsum salt is: 20.

1) Magnesium sulphate
2)  Sodium sulphate
3) Calcium sulphate

4) Potassium sulphate

Match the following: 21.

Subshell  Electrons
A. s a. 10

b. 2

c. 14

B.
C.
D. d. 6

- T

1) A-b, B-d, C-a, D-¢

2) A-c, B-a, C-d,
3) A-d, B-c, C-b, D-a

4) A-c, B-d, C-b, D-a

The chemical compound used to  22.

prevent the growth of bacteria and
fungi is:

1) MgO
2) SO,
3) CaCoO,
4) CaO

2

The gas flushed into pocket of chipsto ~ 23.

prevent rancidity is:
1) H,

2) He
3) CO
4) N

2

2

DTT® OTOT THHOPIT BT
1) Honedodo mSeer
o
2) Rpeloo 5@1@@3@
3) m9oho FSeer
~ %
4) IpwAcHo FSeEF

BLRODY WB0N0:

NTB=L 'aé%a‘m*a

A. s a. 10

B. p b. 2

C.d c. 14

D. f d. 6
1) A-b, B-d, C-a, D-¢
2) A-c, B-a, C-d, D-b
3) A-d, B-¢c, C-b, D-a
4) A-c, B-d, C-b, D-a

WREOCST® By deogne WITRERODRY,
RN WIS ToTOPRE FOOIwE:

1) MgO
2) SO,
3) CaCoO,
4) CaO

2

585’3&3@:,3%033630l 35”71%@3 SES QT
TPYTY TN DT WA:

1) H,

2) He
3) CO
4) N

2

2



BIOLOGY

24. A biological molecule has to move out

25.

26.

of the mitochondrion matrix to the
cytoplasm to enter other organelles.
The number of membranes it has to
move across:

1) One
2) Two
3) Three
4) Four

The following is an example for
parasitic food chain:

1) Tree — Fruit eating birds — lice
— Fungi

2) Detritus — Earthworms — Birds
3) Grass — Rabbit — Wolf

4)  Phytoplankton — Zooplankton —
Fishes — Aquatic Birds

The correct matching of minerals and
their function:

A. Sodium i. Reduces cholesterol
deposits

B. lIodine ii. Controls blood
pressure

C. Iron iii. Transports oxygen

D. Zinc iv. Prevents goitre disease

1) A-iii, B-i, C-ii, D-iv

2) A-iv, B-1, C-i, D-iu

3) A-ii, B-iv, C-iii, D-i

4) A-i, B-iii, C-iv, D-ii

24.

25.

26.

NMMS-SAT-P2 (K-8)

e TD
=

S, ReTORCINT [T Fowow ITeoR
2WOT aeé:as @R el FLROTONTRY,
Bedwo 3pe3TTE WOBWHRNT. QT T
WTBeTTW JpdnY xoassz

1) 2o
2) AT
3) RB1
4) Doy

83 FNTIYNIY TTIRVON &TT ITIVR
VTR TER:

1) =T — ﬁ@aﬁ?ﬁ 5%71%30 — TEIVND
— 30O

2) TS — TIW — TY
3) ey — Bew — SeeY

4) msagwsmo —)@S’S&S)}ﬁﬁﬁ%ﬁb —
SDCTONLD H%@ﬁgﬁ%ﬂb

DNROINH T3 WYY FORFT TOSTRT
RBROTIE:

A. RBreRcko 1. é@dmgp@ BonT=,
3R [RRDIT

B. ©cdeeRs ii. O3E L3BE 0300w

C. 3 jii. @3xT® momecdd

D. == iv."¢now SwenTwy,
3Nz

1) A-iii, B-i, C-i, D-iv

2) A-iv, B-i, C-1, D-ii

3) A-ii, B-iv, C-iii, D-1

4) A-1i, B-ii, C-iv, D-1
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27.

28.

29.

30.

Yeast is added to grape juice and is
preserved for a long time to prepare
wine. This process is:

1) Anaerobic respiration

2) Aerobic respiration
3) Pasteurisation
4)  Emulsification

The correct pair of parasites among
the following:

1) Nepenthes - Insects

2) Hookworm - Mushroom
3) Earth worm - Roundworm
4) Cuscuta - Tape worm

Cell Membrane is described as
semipermeable membrane because:

1) It helps to maintain the shape of the

cell

2) It provides internal frame work to
the cell

3) It plays important role in the
synthesis of proteins

4) It controls the movement of selected

substances in and out of the cell

The true statement regarding Fungi:
1) They are prokaryotic
2) Cell wall is composed of cellulose

3) They reproduce by spores

4) They are parasites

10

27.

28.

29.

30.

3T So30BL Tog TR cwex?, BedR wTY

OINY O DYoo o3, B Jgodhoke:

t

1) ©RNHIT S&B QLT

2) SBIT TS VATV
3) ®Zoessee
4) IesTeD

B IPNTINTY TTRRFOOW BCANT TOCINT
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31. In the given diagram of Amoeba

32.

the parts labelled as A, B and C

respectively are:

1) Pseudopodia, Food Vacuole and
Contractile vacuole

2) Pseudopodia, Nucleus and Food
Vacuole

3) Contractile vacuole, Food Vacuole
and Nucleus

4) Pseudopodia, Nucleus and
Contractile vacuole

Unused carbohydrates in the body are
stored as:

1) Proteins
2) Vitamins
3) Minerals

4) Fats

NMMS-SAT-P2 (K-8)

31. 3RLILT wneewe w3RY A, Babay C oom

32.
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33. Incockroach carbon-dioxide is diffused 33.

34.

3S.

out of the body through:
1) Trachea

2) Tracheoles

3) Spiracles

4) Alveoli

Chlamydomonas respond to light. This  34.

is due to the presence of:

1)
2)
3)

4)

Viruses insert their genetic material  35.

Stigma
Pyrenoids
Cytoplasm

Contractile Vacuoles

into the host cell:

D
2)
3)

4)

To reproduce
To produce antibodies
To avoid antiviral medicine

To obtain food
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36.

37.

HISTORY

Choose the correctly matched group

of answers:
A. Harsha (a) Chand
Charitha Bhardayi

B. Vikramarjuna (b) Kalhana
Vijaya

C. Prithviraja (c) Pampa
Raso

D. Rajatarangini (d) Banabhatta

1) A-d,B-a, C-c, D-Db

2) A-d,B-c, C-a, D-b

3) A-b,B-a, C-d, D-c¢

4) A-b, B-d, C-a, D-c

The period before the discovery of the
art of writing is:

1) The prehistoric age

2) The ancient historic age

3) The medieval historic age

4) The modern historic age

13

36.

37.
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QTR

FENTIYNSY TOOIRN IROQDTLINTT
LOITNE THOTRY, 0%, SRR

A, TR 308 (a) won®
WTTOFOW

B. Q3=wwors Qe (b) 3o

C. Efalepts ToRRC (c) Jo=

1) A-d, B-a, C-c, D-Db

2) A-d,B-¢c, C-a, D-b

3) A-b,B-a, C-d, D-c¢

4) A-b,B-d, C-a, D-c
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38.

39.

40.

The purpose of burning the forests in
post Rig-vedic period was:

1) Construction of houses for living
2) Creating war fields
3) Building trade centres

4) Creating land for agriculture

Identify the statement which is related
to the Mesopotamian civilization:

1) Mesopotamians script is called
hieroglyphics

2) The custom of worshipping the
ancestors was popular among
Mesopotamians

3) The Mesopotamia is an area that lies
in a valley between two rivers

4) The Mesopotamians had learnt to
make various objects from porcelain

Read the following statements and
choose the correct alternative:

The period of Pericles is called as the
Golden age of Greece.

During the time of Pericles art,
literature, science, philosophy and
other fields of knowledge flourished.

1) Both A and B are false.
2) Ais false and B is true.

3) Both A and B are correct but B is
not correct reason for A.

4) Both A and B are correct and B is
correct reason for A.

38.

39.

40.
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41.

42.

The statement which is related to
Jainism is:

1) It taught five vows and three
principles of behaviour.

2) It preached the eight fold path for
eliminating desires.

3) It rejected the existence of God
completely.

4) It completely rejected the concept

of Karma.

Identify the empire which is shown in
this map:

ARABIAN |\

SEA meale BAY OF BENGAL
0.
0
CHOLOLRS .
INDIAN OCEAN ZQ\I-MKA
1) The Gupta empire
2) The Vardhana empire
3) The Maurya empire
4) The Kushana empire
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43.

44.

45.

The inscription useful to learn about  43.

achievements of Samudra Gupta:
1) The Maski inscription

2) The Allahabad pillar inscription
3) The Sannati inscription

4) The Meharuli pillar inscription

Read the following statements and  44.

choose the correct alternative:

A. TheKushanas were basically from
a Nomadic tribe which had
migrated to India from Central
Asia.

B. Kanishka was the founder of
Kushana dynasty.

1) Aistrue and B is false
2) Both A and B are true
3) Ais false and B is true

4) Both A and B are false

Identify the trade centres during the 45,

Shatavahana’s period:

1) Karle, Broach, Kalyan, Birar

2) Bhatkal, Kalyan, Banavasi, Kanchi
3) Nasik, Kalyan, Broach, Bhatkal

4) Nasik, Karle, Srikakulam, Sannati
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46.

47.

48.

GEOGRAPHY

Identify the factor that provides
confirmation of the spherical shape of
the earth:

1) The equatorial circumference of the

earth
2) The polar circumference of the earth
3) The difference between equatorial
and polar circumference of the earth
4) The equatorial diameter of the earth

When a ship crosses the International
date line from west to east:

1) It loses one day

2) It gains one day
3) Itloses half a day
4) It gains half a day

Identify the boundary that separates
the mantle and the core:

1) Conrad Discontinuity

2) Gutenberg Discontinuity
3) Mohorovisic Discontinuity
4) Lehmann Discontinuity
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47.

48.

NMMS-SAT-P2 (K-8)
pRRACS

PRNWOIN NRCTIFTT NG ebozoocﬁm‘;l
%@céa:‘ps 20T WOFTTy, MHTH3!

1) Bemod IWPRITIT HIVS
2)  Hemncd neod B3IV

3)  HRM0H AWIPEIRF T V0D

ILINY IIOT
4) ERNOH IFHIRIE PR

STERROTD @oédm%@oﬁa QT0T 8@9303:634
w%maocs JPRR RN L3TT:

1) ©om womd OIBW, sTREANIT

2) @TY woWdY HIT SEINENENIV
BETERNZT

3) o OTF OIT ITEE, GO

4) o «9F O3B ADIATVIN RORIT

aﬁrosoéw@ 2y Feom ﬁfae@ﬁ@aﬂsq gésems
mmdcgso&md S

) TFTT RCTIDBIOON

2) MOESFINTE RACTIRROOD
3) [RCTBRETHCLAT RCTIDTLOOD
4) SeTRT AeTIPTOON



NMMS-SAT-P2 (K-8)
49. Match List-I with List-1I and select the
correct answer using the code given

50.

S1.

below:
List-1 List - I1
(Rocks) (Metamorphic
Rocks)
A. Basalt 1. Diamond
B. Graphite il. Marble
C. Lime Stone 1.  Quartzite
D. Sand Stone iv. Schist
1) A-ii, B-iv, C-ii, D-1i
2) A-iv, B-1, C-iii, D-ii
3) A-iii, B-ii, C-iv, D-i
4) A-iv, B-i, C-ii, D-iii

Identify from the following groups
which represents Intrusive Igneous rocks:

)
2)
3)

4)

Granite, Diorite, Peridotite, Gabbro
Granite, Diorite, Gabbro, Shale
Gabbro, Diorite, Peridotite, Sandstone

Peridotite, Granite, Gabbro, Rocksalt

Choose from the following which
represents a chemical weathering

process:

1) Frost action

2) Hydraulic action
3) Oxidation

4)

Thermal expansion

49.

50.

51.
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(58ned) (SRTOST
da83ned)
A. 3F3S L 3K
jac)
B. m@w . oxE oY
C. =gy 3y i, Beeed &S
D. 3% 88 iv. BTBD (27)
1) A-u1, B-1v, C-1, D-1
2) A-1v, B-1, C-u1, D-1
3) A-iii, B-ii, C-iv, D-i
4) A-iv, B-1, C-1, D-ii
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52.

53.

54.

Identify the denudational landform
marked as ‘X’:

52.

NMMS-SAT-P2 (K-8)
X' B HRUE HHIAHT PAFNLIT
RTTATIR, I

1) Cave

2) Stalactites

3) Stalagmites

4) Moraines

Occasionally, the atmospheric

temperature increases with increasing
altitude, this phenomena is called:

1) Reversal of temperature
2) Normal lapse rate of temperature
3) Vertical Gradient of temperature
4) Inversion of temperature

Arrange the following types of clouds
in the increasing order of their height:

(i) cumulus
(ii) stratus

(iii) cirrus

(iv) nimbus
I v, 1, 1, i
2) i, i, 1, 1v

3 i, iv, i, iii

4) a1, 1,  1v, 1

S3.

54.

1) 3

2) ©9RBR% 308N
3) =38Rk 3080

4) dwo JEORN

30 Q3R BoTPFNLY FedT HITRRORR
TRCINTLOTVOT YOTPOTTR BT TeRLIT.
81 T30y, Sert FSHRNT:

1) oompo3d &mD3

2) mOTRTR TYOTT VYECD T[T
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(iii) 30 SRcTR

(iv) o8 Fy Secrned
) v, 1, 1, i
2) 1, i, 1, 1v

3) 1, 1v, 1, il

4) i, i, iv, i
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POLITICAL SCIENCE, SOCIOLOGY TOHEIVY, TRRWIY, ST HJ)
ECONOMICS & BUSINESS STUDIES ST STONT

55. The word ‘Public Administration’was  55. "TSr&dE SRYS Q0w TWERY, WenwLROR
used for the first time by: WBATTTL:
1) Alexander Hamilton 1) @6@0@0"‘ TRV
2) Socrates 2)  AoBLex”
3)  Woodro Wilson 3 RBR T
4)  Luther Gulick 4)  oRET RNOT

56. Any member or chairman of the Union  56. 3cog dnesieme wcleens clemde B85
Public Service Commission can be PR @qﬁsgdasel DRFRI0H ST 7903
dismissed on the ground of misconduct SR SRWE WRFTI, TBRONTHITTL!
by the:
1) Prime minister 1) Bpes =vogneh
2) President 2) mw e
3) Cabinet Secretary of the central 3) #coq RTorTn RO FTICDFTIFNW

government 4) RoROCH FFTONY FOYED

4) Parliamentary affairs minister

7. Politics was given the status of an 57, ToxzezE womd FIoZ NREE MTVIRE
independent science by: &ra&gswdo
1) Greeks 1) nesH
2) Persians 2) WOFODIT
3) Indians 3)  PO8o0N:
4) Egyptians 4) SRR

58. ‘“Anation can be identified throughits 58,

human rights”. This is a statement by:

1) John Locke

2) Rouseau
3) Voltaire
4) H.J. Laski

20
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59.

60.

61.

62.

A carefully planned training provided  59.

to the employes under expert guidance
is:

1) Departmental Training
2) Long term Training
3) Pre-Service Training

4) Formal Training

Arurallocal government body thathas  60.

all the voters of a village as its members
is:

1) Grama panchayat
2) Taluk panchayat

3) Grama sabha

4) Zilla panchayat

The sociologist who is called as the  61.

founder of ‘““Class struggle theory” is:
1) August Comte

2) G.S. Ghruye

3) Emile Durkheim

4) Karl Marx

The origin of the word culture, ‘colere’  62.

is from the language:

1) Latin

2) Greek
3) Hebrew
4)  Sanskrit

21

NMMS-SAT-P2 (K-8)
TOrd3T WRnrEITITY gsm% 3o
BP0 hHedd JOBTOR wWHRNT= STLeI0%N:

1) awoam 3Ted
2) QeTormod 303
3) Heww [pmE 302368

4) BBw008 30

MFT PIOTYTR, 3\, BTZII/N
LENRROT MRENErd PCCH TTET XOZ;

1) oz Joweone
2) ZpORP TOWONS
3) o Ry

4) B TOWOWE

‘HoFR e Acr%oscs TFSFFTY Q0T
sdoﬁgmw D35 mz%
)

1) onz B
2) BRF. TOODE
3) Q9 BDFO

4) WS JPTE

‘3%59’ NOW TTT TDRVTT, BROTE” HOW
TWY) B3 POROWOT WORT:

1) o
2) new®

3) &cww
4) =ozx e



NMMS-SAT-P2 (K-8)

63. One of the following is the ‘Unwritten’  63.

64.

65.

66.

rules and regulations related to Social

Institutions:

1) Law

2) Ethical Values
3) Government
4) Courts

Sale of a watch is classified as an 64.

economic action of:

1)
2)
3)
4)

Per capita income is obtained by  65.

Production
Consumption
Exchange

Distribution

dividing National income by:

)
2)
3)

4)

The largest contributor to the National  66.

Total population of the country
Total working population
Area of the country

Volume of the capital used

Income is the:

)
2)
3)

4)

Primary Sector
Service Sector
Secondary Sector

Industrial Sector
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67.

68.

69.

70.

A number of land reform legislations
have been introduced by the Government
of India for the purpose of:

1) Collecting revenue on the basis of
production

2) Providing tenancy security and
ownership rights

3) Providing revenue collection
authority to zamindars

4) Providing property rights to the
farmers

The stage of evolution under which
people started living in a fixed place is:

1) Agricultural stage
2) Pastoral stage
3) Handicraft stage

4) Money economy stage

To avoid unethical practices in business
the government has introduced:

1) Insurance policy system
2) Marketing system

3) Public distribution system
4) Financial Aid system

Identify the Merits of partnership
among the following:

A. Easy to form
B. Own capital
C. Simple dissolution

D. Sharing of Business loss

1) A,BandD
2) A,BandC
3) A,CandD
4) B,CandD

67.

68.

69.

70.
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MATHEMATICS neds

71. The perimeter of an equilateral triangle 71, ;.00 z=zs s BIES 4550.20¢

is 45cm. The length of each side is: SNT. VTT FS WBAT YOT;
1) 10cm 1) 103o.cxe
2) 12cm 2) 12 %o.cwe
3) 15cm 3) 15 30.Q0¢
4) 45cm 4) 45 Fo.Q0¢

72. In the figure if AKLM = A PQM, then 72, 23359 AKLM = A PQM, <58 ‘X’ 8:
the value of ‘x’ is:

K

L
1) 3 2) 4 1)y 3 2) 4
3) 6 4y 7 3) 6 4) 7
73. In the figure AB||CD. The measure of 73. %389 AB||CD.sx8 LAEC o ©¢3:
ZAEC is:
A B | A B |
109° 109°
E E
115° 115°
C D C D
1) 100° 2) 112° 1) 100° 2) 112°

3) 136° 4) 142° 3) 136° 4) 142°

24
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74. The median of the scores 74. B3 TRFTOINY a"nz;%o%
40, 52, 34,47, 31, 35,48, 41, 44, 38 is : 40, 52, 34, 47, 31, 35, 48, 41, 44, 38 :
1) 40 1) 40
2) 405 2) 405
3) 41 3) 41
4) 61 4) 61

7S.

76.

If \/g =Gjmx, then the value of ‘x’ is:

)

2)

3)

The ratio of cost price to selling price
is 5 :7. The profit percent is:

)
2)
3)

4)

N | —

| W

10

20

25

40

25
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77. In the figure ZAOB and ZDEF are:

B D

<

78.

79.

1)
2)
3)

4)

A 3 x 3 magic square is constructed
using even numbers from 2 to 18. The

Q
o
OE

Complementary angles
Supplementary angles
Vertically opposite angles

Adjacent angles

magic sum is:

D
2)
3)
4)

The number of boys and girls in a class
is in the ratio 7:5. The number of boys
is 8 more than the number of girls. The
total number of students in the class is:
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80. A seven digit number is represented
as 35A2479, where ‘A’ is a digit. The
seven digit number is exactly divisible
by 11. The value of ‘A’ is:
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A person sold a table for 32250 and
gained one-ninth of its cost price. The
cost price of the table is:
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If 1+£=1+E,then the value of ‘m’
S\ 169 13
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4) 9
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NMMS-SAT-P2 (K-8)

83. The value of 6.25%x6.25-1.75 x1.75 js: 83. 6.25x6.25-1.75 x1.75 QTS 23e3:
4.5 4.5
1) 45 1) 4.5
2) 6 2) 6
3) 8 3) 8
4) 109 4) 109

84. One third of a number when added to 84. om» xoﬁéoﬁ SONRTRC &Odd%% 15:9l

1 gives 5. The number is: 3RRWeN 5 ©MH3W. TmET & Bod!
1) 12 1) 12
2) 13 2) 13
3) 14 3) 14
4) 18 4) 18
atb a_ c @
85. If %=2and%=3,then value of e is: 85. B_zandg_3’ $WI L. o WS
3 3
2 2
3 3
4 4
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NMMS-SAT-P2 (K-8)
86. In the figure the value of °x’ is: 86. u¥3xY ‘X’ T B

1) 100° 1) 100
2) 120 2)  120°
3) 1300 3) 1300
4y 140° 4)  140°

87. Inthefigure AB| CE and CD|[EF. The 87. %35Q A B || CE =3 CD|[EF ¢33 “x’

value of ‘x’is: S B33
B B
40° 40°
E AN AN E N\ N
X F % F
65° 65°
A C 7 [)' 7 A C 7 ]j 7
1) 115° 1) 115°
2) 135° 2) 135°
3) 75° 3) 75°

4)  105° 4) 105
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88. Taking only the positive roots, the

89.

90.

value of \/41_ ’21_’_ [19_\/5 is:

) 3
2) 4
3) 5

4 6

The factors of (a>t+b*-c>-2ab) are:
1) (a-b-c¢),(a+b+c)
2) (a+b-c¢),(a-b-¢)
3) (a-b+c),(a-b-¢)

4) (atb-c),(a-b+c)

1
If (xZ +%j =102 then the value of (x —;) 90.

is (take only the positive roots):

1) 8
2) 10
3) 12

4 13
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4) (a+tb-c¢),(a-b+c)
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g@d 50935 / 3T / g@d 50935 / 3T / > g@d _,0:’0935 / 3T /
Ques. No. | Key Option Ques. No. | Key Option Ques. No. | Key Option
1 3 21 1 41 1
2 4 22 2 42 3
3 2 23 4 43 2
4 1 24 2 44 1
5 1 25 1 45 3
6 3 26 3 46 3
7 4 27 1 47 1
8 1 28 4 48 2
9 1 29 4 49 4
10 3 30 3 50 1
11 4 31 2 51 3
12 2 32 4 52 2
13 2 33 3 53 4
14 1 34 1 54 1
15 3 35 1 55 1
16 3 36 2 56 2
17 1 37 1 57 1
18 2 38 4 58 4
19 2 39 3 59 4
20 1 40 4 60 3
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g@d 50935 / @33 / g@d 50935 / 3T /
Ques. No. | Key Option Ques. No. | Key Option
61 4 81 3
62 1 82 1
63 2 83 3
64 4 84 1
65 1 85 3
66 2 86 2
67 2 87 4
68 1 88 4
69 3 89 3
70 3 90 2
71 3
72 1
73 3
74 2
75 2
76 4
77 2
78 1
79 2
80 4




